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Note : (i) Attempt any five questions.  

 (ii) All questions carry equal marks. 

1. (a) What do you understand by ‘factors of 

production’ ? Explain each of the four 

main factors. 4+6 
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(b) Explain the main determinants of 

demand of a commodity in the market. 

    10 

2. Explain in detail the concept of price 

elasticity of demand, income elasticity of 

demand and cross elasticity of demand. Give 

suitable examples. 20 

3. Explain in detail the attainment of 

equilibrium position by a consumer with the 

help of an indifference curve. 20 

4. (a) Define marginal rate of technical 

substitution of capital for labour. Give 

your answer with diagram. 10 

(b) What is market ? Explain market 

equilibrium of a commodity 

diagrammatically. 10 
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5. (a) Explain with a simple diagram how 

government controls the price charged 

by a monopolist. 10 

(b) Explain how the value of marginal 

product determines the demand for a 

factor of production. 10 

6. Distinguish between perfectly elastic, 

perfectly inelastic, unit elastic, inelastic and 

elastic supply curves with the help of 

diagrams.  20  

7. Explain the law of variable proportions with 

the help of example and diagram. 20 

8. (a) How are the various tools of 

government intervention applied while 

determining the price ? 10 
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(b) Explain how the solutions to the central 

problems of an economy are interlinked. 

    10 

9. Write short notes on any two of the following : 

2×10=20 

(a) Ricardian theory of rent 

(b) Distinguish between ‘extention in 

supply’ and ‘increase in supply’ 

(c) Full cost pricing 

(d) Oligopoly 

(e) Determination of price in agricultural 

markets 
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okf.kT; esa Lukrd (lkekU;) 

[ch- dkWe- (th-)] (lh- ch- lh- ,l-) 

l=kar ijh{kk  

twu] 2025 

ch-lh-vks-th-&171 % O;f"V vFkZ'kkò ds fl¼kUr 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) dksbZ ik¡p iz'u dhft,A  

 (ii) lHkh iz'uksa ds vad leku gSaA 

1- (d) ̂ mRiknu ds dkjd* ls vki D;k le>rs gSa \ pkjksa 

eq[; dkjdksa dks Li"V dhft,A 4$6 

([k) ckt+kj esa fdlh oLrq dh ek¡x dks fu/kkZfjr djus okys 

rRoksa dh O;k[;k dhft,A 10 
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2- ek¡x dh dher yksp] ek¡x dh vk; yksp ,oa ek¡x dh 

vkM+h yksp  dh vo/kkj.kk dks foLrkj ls le>kb,A mfpr 

mnkgj.k nhft,A 20 

3- rVLFkrk oØ dh lgk;rk ls ,d miHkksDrk }kjk lkE; 

fLFkfr dks izkIr djus dk foLrkj ls o.kZu dhft,A 20 

4- (d) Je ds fy, iw¡th dh izfrLFkkiu lhekUr nj dks 

ifjHkkf"kr dhft,A vius mÙkj dks fp= }kjk 

le>kb;sA 10 

([k) ckt+kj D;k gS \ fdlh oLrq ds ckt+kj lUrqyu dh 

lfp= O;k[;k dhft,A 10 

5- (d) ,d ,dkf/kdkjh }kjk fy;s tkus okys ewY; dks 

ljdkj }kjk fu;af=r djus dk iz;kl dSls fd;k tk 

ldrk gS] lfp= O;k[;k dhft,A 10 
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([k) lhekUr mRikn dk ewY; mRiknu ds rRoksa dh ek¡x dks 

dSls fu/kkZfjr djrk gS] Li"V dhft,A 10 

6- iw.kZr;k ykspnkj] iw.kZr;k csykspnkj] bdkbZ ykspnkj] 

csykspnkj vkSj ykspnkj vkiw£r oØ esa fp= dh lgk;rk ls 

vUrj dhft,A  20 

7- mfpr mnkgj.k ,oa js[kkfp= dh lgk;rk ls ifjorhZ 

vuqikrksa ds fu;e dk o.kZu dhft,A 20 

8- (d) ewY; fu/kkZfjr djrs le; ljdkj }kjk gLr{ksi djus 

ds fofHkUu lk/kuksa dks crkb,A 10 

([k) Li"V dhft, fd vFkZO;oLFkk dh dsUæh; leL;k,¡ 

,oa mudk lek/kku fdl izdkj vkil esa ijLij 

lacaf/kr gSaA 10 
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9- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×10=20 

(d) fjdkMksZ ds yxku dk fl¼kUr 

([k) ̂ vkiw£r eas foLrkj* ,oa ^vkiw£r esa o`f¼* eas vUrj 

(x) iw.kZ ykxr ewY; fu/kkZj.k 

(?k) vYikf/kdkj 

(³) Ïf"k ckt+kj esa ewY; fu/kkZj.k 

× × × × × 

 

 

 

 

 

 

 


